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o HUA U9 1 I ToTEA1 & A Uget, U9 T shilieh ravd ford |
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T 10.15 o fopam ST@T | 10.15 S99 § 10.30 S ek B had YI-9F hl Tl
3R 38 AfY & GHF d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (JgTf=re)

GEOGRAPHY (Theory)

REgiRa a7 : 3 o2 STferHaTH 3% : 70

Time allowed : 3 hours Maximum Marks : 70
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Y97 G&IT 8 T 13 TY-ITIT ¥97 3 | I Y97 8 3% &1 & | 394 & UF ¥
qed STETRT 97 8 | IA% J97 &1 IR 80 - 100 551 & g 781 &1
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Jo7 &I 14 & 20 FH-IT0T F97 & | F&F Jo7 5 3% B & | IAB FoT H
I 150 7151 & 37er 781 811 =3 |

X7 G721 7R 22 T W GG STaT THIH0 T9T YA faoryarsii
g gafera 397 8 | I F97 5 3F FTE |

3TYH! 17T T [@vT TUT GRA B IGT-FrfE] B IW-GIEdH & AT T
R/

{GT-TfE] & 3@ & 77 Rt 77 2¥aeied & 37317 &1 3gHIT & Tl
&/

General Instructions :

(i)
(it)
(iii)

(iv)

(v)

(vi)

(vii)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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T fatg SN % o ThR P & ? 1

What are the two types of intensive subsistence agriculture ?

SThIRT < fopE <01 H Hod o191 1 A & ? 1

Which country has the largest rail network in Africa ?

9 o Toheal o1 T o AW fafan, e qod: fohE @ Tl % &9 § g7

% l i-}-i:]
2 2

Name any two towns of India, initially developed as mining towns.

MY 7Y & H S <hl UraT i UTA § 50 TehR Heg L Tohd & 2 1

How can you help in improving the quality of water in your locality ?

TEE Td Hifees oremt % SER W @S &1 e Hif | é+i:

Classify minerals on the basis of chemical and physical properties.

‘Sfeq il T8t HHE & # I el TETeui gEEal h g HIfu | 1

Examine the twin environmental problems that have emerged in the

‘Indira Gandhi Canal Command Area’.

qfeam TRmn o 3@ glawnsti 1 ge w9 fGwm =& geT @ ? T wRu T
HIT | 1

Why is West Asia the least developed in rail facilities ? Explain one

reason.

“feraen! UMY e Ta TRl TR, 39 W HIE THh Ad 8 & | fafie mmueuet @
TRITT A §U 39 HH h foReiyor HifT | 3

“There is no consensus on what exactly defines a village or a town.”
Analyse the statement by using different criteria.
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Describe any three characteristics of agro-based industries in the world.

10. “Uld TR YGH HIAl 7 IR WHI IR ITAN HId & a1 RN TR @
AR 81 ST 8 q9T Johfd W HHa S48l hl B9 94 Tl & |7 39 e
&1 siife foag il | 3
“Nature provides opportunities and humans make use of these and slowly
nature gets humanised and starts bearing the imprints of human

endeavour.” Justify the statement.

11. = fou U s w1 StemeH HifSu 3t 3Hes A= foy u get & 3w fafEw - 9x1=3

(11.1) SR feu U e 993 6l yga hifve 3 39 9m fafgu | 38
s fopg Tog  fedg @ 2

(11.2) 39 389G §9F @ foT¢ wifth 1 J&F @i &1 ¢ ? 39 G939 hl HiA-Al
T qitEed 1 giadm JgE LT 8 2

(11.3) 39 3E91d T3 o [T A18-37IEh TAT I & F&I Eid -4 g ?
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Study the diagram given below and answer the questions that follow -

Steel Plant

Bilaspur

Balaghat

Mahanadi River

/Z
..«K
b »
e Y Steel Plant
Dalli Rajhara Hills Ed. Dolomite
k¢ Manganese
W/ G Iron-Ore
% Tandula Soal
Tank Iron
- Railway
(11.1) Identify and name the steel plant given above. In which State is
this plant located ?
(11.2) Which is the main source of power for this steel plant ? Which
rail route provides transport facilities to this plant ?
(11.3) What are the major sources of iron-ore and water for this steel

plant ?

e :  HEkiiad 3eT #aa g gheniaal & fog, Jv7 @ 11 @ &

wWE:

Note :
only, in lieu of Q. No. 11 :

The following question is for the Visually Impaired Candidates

TSI H 1T AR N ST I hl T % g Ieerh fdl diF e

TR shl ST <HIFIY |

3x1=3

Explain any three major factors responsible for the establishment of Tata

Iron and Steel industry in Jamshedpur.
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12. = fou U omfas 1 aEgrigEs TEre hifT 3R 396 A G Ty o

1+2=3
P
-:-:-IETIITTF
—— ATt gt T
fepdt 50 0 50 fepel
(12.1) #Hf § fe@rd 78 T8t it ugam hifve st saer T fafee |
(12.2) 39 980 I g IR faeivand fafau |
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Study the map given below carefully and answer the questions that
follow :

Bilbeis
e SHIP CANAL Wl
acmcm RAILWAYS
—— FRESHWATER CANAL

KM 5l0 (i) SIO KM

(12.1) Identify and name the canal shown in the map.

(12.2) Write any four characteristics of this canal.
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e : W@HWWWWWW%W Jo7 G&IT 12 & 241 4 6 :

Note: The following question is for the Visually Impaired Candidates only,

13.

14.

15.

16.

17.

in lieu of Q. No. 12 :

-G T8 QY HEMEFR] ! Sisd! 2 2 39 T8 I fohgl 9r famiwaret &1 3g@
I | 1+2=3

Which canal connects two oceans ? Write any four characteristics of that
canal.

“Ora # el g3 SHEE IR SR fORR % g 9 % ALY TR |

S <1 T[S i Tgd HE™T B |7 S i A i SHIC W@ H HGG Y Hebel

aTel Hedl shl ST hHIT | 3
“Indiscriminate use of water by increasing population and industrial
expansion has led to degradation of the water quality considerably in
India.” Explain the values that can help in maintaining the quality of
water.

HIIEUE 3R TUERT o U W HIR o HIGAI I G FM § Ffiehd hIT |
S a1 6 fohegl af fomiwanat &1 =men Hife | 1+4=5

Classify means of communication on the basis of scale and quality into
two categories. Explain any two characteristics of each category.

e foseE @ . a7 2 31fid A foehrd it & STEm WSSl I 9 R
gugl | afiehd SHIFT | e THE <l Teh-Ush foIRINal sl TOsC HINT | 142+42=5
What is meant by human development ? Classify countries into four
groups on the basis of the human development scores earned by them.
Explain one feature of each group.

“smgfier T T SRIEE AR fave steleeEe H1 YR 7 |7 3Rl digd
39 e i gfe i | 5x1=b5

“In modern times international trade is the basis of the world economy.”
Support the statement with examples.

yaTd fohe TehR Rl & W TaEdl & W faair 1 YR 8 ? 9Rd § YaTd
% Tffeh INUTHT <hl ST hifg | 2+3=5

How is migration a response to the uneven distribution of opportunities

over a space ? Explain the economic consequences of migration in India.
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18. il o Uid STYINTA Al ! Hed ST IaTaWN Algd TS HifT |~ 5xI=5
Explain the importance of five non-conventional sources of energy with

suitable examples.

19. TER % MY i foh@ § da1 & i @nedehdl 3R ghg o1 fowerwom
T | 5

Analyse the significance and growth of service sector in the modern
economic development of the world.

20. 9RA i 93 A6 ifd, 1991 & fhdl 9N T&I LA 1 3g@ HiwT |
3eval Y wiftq o Jvefiertor i yftrert 1 auia i | 2+3=5
Mention any four major objectives of the New Industrial Policy, 1991 of
India. Describe the role of globalisation in achieving these objectives.

21. HER % U MU TSHifoR W@AERE (98 13 W), ¥ fe@m T bta vimfas
@I A, B, C, D 31 E <hl gg== hifvu 3K 39 g am F=fafga st

I Aeg A Ik I Tt T8 w@ren W fafew 5x1=5
A. ST FI &% I g TH §e1 o0

B. Tiaie wugw 1 o wqw &

C. ‘URuEIE et @ 1faw wwH

D. U% Y@ Hqg1-q0+

E. TH AP aig-uad

Identify the five geographical features shown on the given political
outline map of the World (on page 13) as A, B, C, D and E and write
their correct names on the lines marked near them with the help of the
following information :

A.  Alarge country of Africa in terms of area

B A major area of subsistence gathering

C The terminal station of a “Transcontinental Railway’
D. A major seaport
E

An international airport
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 3TShIhI o &%l h G18 | Teh ¢ ¥ Wl A1 fAIRAT |

(21.2) wWER % forelt s wg@ fratea dugwr &= &1 am fafau |

(21.3) UR-HTESREA termnt o foreft weh erfm wevm @1 am faRa |

(21.4) I s & TRt o yg@ Tgd-ueH 1 91 fafee |

(21.5) cferur TR o forell T FAUE aTY-aw @1 AW fafaw | 5x1=5

(21.1) Name a large country of Africa in terms of area.

(21.2) Name any one major area of subsistence gathering in the world.
(21.3) Name any one terminal station of Trans-Siberian Railway.
(21.4) Name any one major seaport of North America.

(21.5) Name any one international airport of South America.

22. WA % U MU TSHifaes WEwmtaa (I8 15 W), # Frefafaa asor w1 3wgw
foel @ Twige 3 39 AW fafaw 5x1=5

(22.1) 2011 T FTHUAT o FTAR TG A(Uh THEEAT Tcd ATeTl TST
(22.2) <A I JUV IcUTGh TS

(22.3) TG H fEq WiTca=R FIEfehl areh

(22.4) ofifsIn # feord se 6 9@ @H

(22.5) dfHa A1g § feda Sradgia arg-uaq

Locate and label the following features with appropriate symbols on the
given political outline map of India (on page 15) :

(22.1) The state having the highest density of population according to
Census 2011

(22.2) The leading rice producing state
(22.3) The software technology park located in Gujarat
(22.4) The major coal field located in Odisha

(22.5) An international airport located in Tamil Nadu

64/2 10
Downl oaded From : http://cbseportal .conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal . conl

[ CBSE

www chsaportal com

e : WHWWWWWW%WWW22%WMW

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1)

(22.2)
(22.3)
(22.4)
(22.5)

(22.1)

(22.2)
(22.3)
(22.4)
(22.5)

2011 1 SFUET & TR 9RA 1 HH-AT T5F T8 A4h TS
Tcd Tt 8 ?

VA 1 -9 TSI =T 1 YU IdTeH & ?

ToRTd | feora @fged=r ienfieht areh =1 am forfau |

anfean & fedra yg@ igen & &1 am fafEe |

qfiet A1g # oo T ST=aig a1g-uw 1 9 fafau | 5x1=5

Which state of India has the highest density of population

according to Census 2011 ?

Which state of India is the leading rice producer ?
Name the software technology park located in Gujarat.
Name the major coal field located in Odisha.

Name an international airport located in Tamil Nadu.
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I |, 22 & forw For question no. zz -
U T {T-AHR (TS TR )
Outline Map of India (Political)
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